11/29/21, 11:36 AM

Ayestion 1

ot yet answered
Marked out of 1.00

C++ 9bol ogmx0d9hol 39300a9bemMo0do oMob:

Select one or more:
() a. momoby®mo sbmgdo;

() b. oMmadym0 300MJ00;

() c. 3369haopool 60dbgdo;

() d. ®m™3ohmo 308MIo0;

() e Jommymo 060060l obmgdo

Question 2

Not yet answered
Marked out of 1.00

36O MaMmododo 3m3gb¢otmo dgodmgdo gobgomogbmm:

Select one:
O a. 3bmmmE 3MMa©Hadol dmmmL

O b. 3®mamodol 6300L309M o3
(O c¢. dbmmm 3MmaMmodol obobyolbdo
O d. 3bmmmE 3Gmamodol 3o bobogmdo
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Question 3

Not yet answered
Marked out of 1.00

#include <iostream> 0bLhGPJE00L EobOTbYMgdY:

Select one:
O a. 3mbbmmoob 3mbogdmo 89hobol—godmAobol BboMEoggme;

O b. 9m39IOM0 06 dM0L LEMG0;
O €. 80930403960 Bybd309go0l dboMEoggHo;

Question 4

Not yet answered
Marked out of 1.00

MHM3gM0o LOBOMMMMO FNOZMEYOd M3JMOHMOMYd0L hobgemo?

Select one:
Oa. |/
O b.
Oc
Od
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Question 5

Not yet answered
Marked out of 1.00

MHM3gm0o 30O M39em0 303 93MOMdd 307m0mYol obogmo bhmogmbol

obobyoldyg?

Select one:

O a.

\n

O b. \a

O c.

\t

Od \r

Question 6

Not yet answered
Marked out of 1.00

399b000390 AMboEgdmo Hn3dgoL domo goblodmgtgogdo:

char

float

int

void

Choose...

Choose...

Choose...

Choose...
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Question 7

Not yet answered
Marked out of 1.00

©OOMOZ9M M3YMOHME®Yd0 dobo gLty gdols 3GMommonghgdol dobgpz0m:

1 Choose...

3 Choose...

2 Choose...

Question 8

Not yet answered
Marked out of 1.00

300mLobYgo0do y=Ix , Mm3gEmobhMm™o ! Bo®mIMoagbl

Select one:
O a. Om3memE YooGmPm, 0bg39 8060 MIIMOHMEL

O b. d0botmym Mm3ghodhmml
O ¢ H9mbghym Mm3ghohmel
O d. Pbotym m3gMmohmmb
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Question 9

Not yet answered
Marked out of 1.00

MHM3gMOo 39mMIAgHH0MO ROZYMO godmbobogl 30Mmmoom 3306dL denm3-ggdodo?

Select one:
O a. 9wogLo
O b. ®mdodo

O €. BoOm3gmbgEo
O d. Lodzgmbgo

Question 10

Not yet answered
Marked out of 1.00

30mgdohnlznMo 0ybdino fmod(x,y) g3odmgaL:
Select one:
O a. xly godmbobymgool 9993l

O b. x-0by -89 gogmaolb d99gzoe domgdym Bomop®ogbgo bodmb
O c. x-0by -39 goygmaol 3909300 30(Mgoym dnmmoEbio bodmb
O d. x-0bo Eoy-0b doLMMOb G 36033690 Moo
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Question 11

Not yet answered
Marked out of 1.00

M0 39009386 3odmohobl 3MbLMBY (93¢0689) 3G mMaMmodymo 3mool 398 ga0 RGaagdbH0?

int a=10, b=18;

a+=b;

b=a-b;

a-=b;
cout<<"a="<<a<<"\tb="<<b;

Select one:
O a. a=10 b=18

O b. a=28 b=10
O c¢. a=28 b=18
O d. a=18 b=10
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Question 12

Not yet answered
Marked out of 1.00

MHMamM0o 306039008 M3gMmohMmEmoL dLMEoodHYMHMdO?

Select one:
(O a. 8oMmEbboEob do®myzbog

O b. 6906030960 3030MMYM YO0
(O c. 0063360006 doMibbog
O d. ™3gMo300L 03603369¢m0 603b0b doMFzbog

Question 13

Not yet answered
Marked out of 1.00

X % y m39Mo30ol 3909g00:
Select one:
O a. x—ob y-89 goboymaol 89093o© domgdgmo bodmo;
O b. x—ob y-3g 3gobogmqo;
O ¢. x—0b y-dg gobogmaol dmgmo 6obogmo;
O d. x-0b 36mEgbHo;
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Question 14

Not yet answered
Marked out of 1.00

bool ¢030b 33emoEo Mgdnm ™ol 3603369 mdgoL:

Select one:
O a. dbmmm true,

O b. 63d0L309cL;
(O c. dbmmm false;
(O d. obfalse, o6 true;
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Question 15

Not yet answered
Marked out of 1.00

M0 096900 3odmAHbogmo 3mbLmmol 93¢obdg 3mol 3980930 RGMH63Ig6¢H0L Fgltymgdols IgE9ao:
int a=2, b=5, c=7;
int i=(a*c)+b;

if(i!=21) cout<<a;

else
cout<<b;
Select one:
Oa. 5
O b. 21
Oec 7
Od 2
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Question 16

Not yet answered
Marked out of 1.00

M0 39009386 3odmohobl 3MbLMMBY (93¢0689) 3GrmMaMmodymo 3m@ol d98ga0 BMOadgdbho?

double x=5, vy;

if(x>=5) y=pow(x,2)+1;
else y=sqrt(x+4);
cout<<‘y="<<y;

Select one:
O a. y=25
O b. y=26
O c y=3
O d. y=5
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Question 17

Not yet answered
Marked out of 1.00

dmE93Pm00 3MMaMmodol B®mogdgbho, MmMA3gmoE 9dgdl bodo Mopblol (a, b o ¢) dobodogmydo 360d3b9emmodL:
if (a<b)

if (a<c)

min=a;

else

min=7? ;

MMIgo 33emool 3603369mmmdo Pbo dogbodmb min 33emoEL , else-ol 898mbggg0807?

Select one:

O a. (min=c)

(O b. min-ob 8603369eMMdo 3oyt 33939eM00;
O ¢. (min=a)

O d. (min=b)
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Question 18

Not yet answered
Marked out of 1.00

BOIMMIMOMMOg0b MMM 06 BoMIMOEZ9bL dMam®Mmnmdol m30Lgosl:
Select one:

O a. obgmghymmoo

O b. ©9H9®30bocmgogmmdo

O ¢ 969390™do
O d. 3909300bmoo

Question 19

Not yet answered
Marked out of 1.00

0 046900 3odmbHobogmo 3mblmmol 93¢0bdy 3mEol 399930 3MObadgbdol dgbtymgdnl dg9ao:
bool a=true,b=false;

int x=10,y=45;

if(b)cout<<x;

else cout<<y;

Select one:
O a. 45
O b. false
O c. true
O d. 10
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Question 20

Not yet answered
Marked out of 1.00

60 00930900 930689 3rmg™modol 3969z 3Mogdgbhol dgbtymgool 39d9a?

intx, y =-3;

if(y == 0) x =10;

else x =5;
cout<<"x="<<x<<endl;

Answer:

Question 21

Not yet answered
Marked out of 1.00

oL Y®olb M 33moEol 3608369tmmdo 3Mrmamodnl 8990930 BMadgbhol gbtymagdol 39993 ?

int x=0, y=1, z=1, m=1;

if (x)

if (y)

if (z) m=5;
else m=10;
else m=15;
Select one:
O a. 10
O b. 1
Oc 15
Od. 5
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Question 22

Not yet answered
Marked out of 1.00

9398mm 3m 393900 godmbobymgogdnob Mmagmoo §93306M0h0, 0y dmEgdnmoo:

a=b=true

Select one:
O a. Y(a&&b)
O b. la&&!b
O c. !(allb)
O d. a&&b
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Question 23

Not yet answered
Marked out of 1.00

ol yo®mol x 898930 BGMgdgbdhol dgbtymgdol 98w93?

int x,y,z;

y=3;

z=5;

x= 20+ ++y + ++z;
Select one:

O a. 29
Ob. 20

O c 30

O d. 28
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Question 24

Not yet answered
Marked out of 1.00

6HMmAgm LhGogmboo FgzEmao 3mEob 896(ga BGMogdgb¢do:

intm, n;

cout >>“m=";

cin >>m;

cout<<“n="%

cin >>n;

cout << “m+n=“ << m+n;

Select one:
O a. 39-2 bp®ogmbdo
O b. 1-gem LGogmbdo
O c. 9g—4 bhdogmbdo

O d. 089-3 bpMogmb3o
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Question 25

Not yet answered
Marked out of 1.00

o H030L 9g3MA3oo 89393 dodmbobymgdodo:
P=pow(z,1/4)*fabs(z+20)/(pow(z)-cos(z));

Select one:
O a. pow gybgdsoo Bogmool 8360336980 ghmo®mandgbhooboo

(O b. cos(z) - 8o LogoGmm oMo BYORbomgoo
(O c. fabs - ol boggmop 36 oymb abs
O d. o6 3g0dmgdo HoEbgol vygzebo Bogmo botolbdo
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Question 26

Not yet answered
Marked out of 1.00

ol 3odmodobl 399930 Mogadgbdho dmbo¢hm™mdg?

char ¢ ='K";

switch(c){

case 'A': cout<<"Aleko\n"; break;
case 'K'": cout<<"Kote\n";

case 'M'": cout<<"Mari\n";
default: cout<<"Gio\n";

}

Select one:

O a. Kote
Mari
Gio

(O b. Kote

O ¢. Kote
Mari
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Question 27

Not yet answered
Marked out of 1.00

9m3939m00 3MMaMmodol 3MmEo. x-0b Mo 36033690 ™0g00LOM3Z0L EO00g3EIOS dbmmmp Test2?

switch (x) {
case 1: cout<<’Test1";
case 2:
case 3: cout<<"Test2";
break;
default: cout<<"Test3";
}
Select one or more:
a1
()b O
()Jc 4
d 2
e 3
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Question 28

Not yet answered
Marked out of 1.00

60 00930900 930689 3rmg™modol 3969z 3Mogdgbhol dgbtymgool 39d9a?

int main(){
int x =1,y =2, z;
if(x == 1)
if(y == 1)

cout<<"z="<<x+y<<endl;
else cout<<"z="<<x*y<<endl;
else cout<<"z="<<y-x<<endl;
system("pause");

return O;

}

Answer:

« »
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